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And if you want I can say; really you cannot resolve the query

OVERVIEW

"X posed a query whether an extended hand in another M is considered a
n°9175 so that he is not permitted to retract it back into his mwn. Initially the
X3 answered that this is a dispute between two contradictory nin»A2, one
of which states that it is forbidden to retract his hand while the other permits
it. The X723 refutes this answer claiming that both mn»72 can equally
maintain' 27 N°92725 (and it depends whether his hand is "» 75¥n% or unY
“n), or they can both maintain 7 n°5n135 > and the Xn»12 that permits
returning the hand is where he did it *"ww2n and the Xn»72 that prohibits him
i1s where he extend his hand mwnwn. The X3 asked that if we maintain that
if he extended his hand 72wnwn he cannot return it even though he will come
to a NRV 211, we can resolve the query of *aX 72 °2°2 17 that one is not
permitted to be 7717 the No to prevent a NXvN 21°1. The X3 replies (in the
second answer), according to our X017, that we cannot resolve the X*v2 of 219
2’1 because we will give a different answer how both Nnin»92 can maintain
"7 N*9»122 WY (for one XN™2is awa [therefore he is permitted] and one is
7°112). Our NMo0IN discusses the proper X073 and explanation of the Xna.

— DIVON XY O9IYY 139092 NYT PN 195295 AN
It is the view of the >'' that our texts do not read; ‘really you cannot
resolve’ the query of »ax 72 °2°2 27. These words should be omitted.

moon explains his X073
— TN TN VY FYPIN RDT NIINN NMIPY NIINT 2) by N7

' The (seemingly two) answers of *»7 n*»»733 and *»7 n*>1»733 XY are one answer. The two NIN™ 2 can
maintain either 7 n°%1735 or "7 N°91133 1XY; they have no bearing on the query of »»ax. Initially however
when we thought that the two nin>>92 are arguing whether *»7 n°2%733 or not, we would somewhat resolve
the query of »ax; that it is a 2°Xin npY2nn. We know certainly that one Xin maintains *»7 n°9»735 while the
other disagrees. However, now we argue that there is no way of knowing what the position of the mn»2 is
regarding °n7 n°o1732 or not. They can maintain either view and still be reconciled. We must say that these
two ways of interpreting the mn>12 are one answer, for if we maintain that they are separate answers it will
turn out that according to each answer the query of X is resolved; according to the first answer everyone
agrees that "7 n°91133, and according to the second answer everyone agrees that "7 n°91733 W?; however
the intent of the X713 is to show that we cannot resolve the query of »aX. Therefore we must say that both
interpretations are really one answer. See Xnp X*1wn n"X1 7"72 0" .
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For even though there are other answers so that the two nins»a2 should

not contradict each other and according to these answers the ¥¥2 of X"227 will not

be resolved, nevertheless -
— NO9N WM RO Y9N 52 2321 222 297 LYIIND NIIN 121y

We can still resolve the °2°2 297 X°v2X (that 7m77% 107 X?) from the
7'"%ma students’ initial resolution of the two mn»12. Since the 7"»7°2 °12

did not reconcile the two Mn>72 in an opposite manner, that 7ownwn since he
will come to an nXvr 211 they permit him to return his hand, but rather they concluded
that 7ownwn it is MOR to return the hand (even though it will bring him to a nXvr 21°17) -

— Y00 N9T YYan

We infer from this that they did not permit him to be 77 the ns.?

mdoIN presents a dissenting opinion:
— 1190 D9 929YT NI DNIAN 13 PYNY 13939

However it is the view of the R'"aw= that indeed we do read in the texts
"mwon X7 oY -
— 9999 XY Y7190 H%2 %32 99207 VYN NIY NN 2IWUN NYT INNPNT

Because one cannot resolve the query of X"227, that the 7'"mam2 s12
maintain that it is not permitted to be 7717 the no, from the fact that they

did not explain the two N1n°°72 in an opposite fashion (that 7127 1017 *"wan and
01p K7 7ownwn for it will come to a nXwvr 21°1); this is not a valid proof -
— 91299 ODIYH X920 NN PRY 29D NIOIN WM NIT NNY

For the reason they did not answer in an opposite fashion because it is

never logical to maintain -
— DI O TIYaN MOIP NI NPUNYN

That if he extended his hand mawnw» they did not fine him, but if he

extended his hand >'"vwan they did fine him; this is illogical -
— *N9YHONI XIIND MPT MIDIP O NHIYaN 999 PR DY MDD RY NIPYNYN INT

* If the 7"»72 12 would maintain NXLR 210 T2 X1W 2T AMTI2 17°07, they should have reconciled the
mn»12 here as well (in an opposite manner) that 7ownw» where he will come nxvn 21n >7°% they permitted
him, however >"wan where he will not come nxvn 211 >7°9, they prohibited him from returning his hand.
Since they did not resolve it in this manner, it is evident that they maintain 7777 172077 X5.

 The X reads (according to the ™) 121 MWw2 X XWp XY X"axy (we are offering another way of
reconciling the Mn>>92 assuming they maintain *»7 n°91733 1RY).

* I the 7"»2 *12 would have the option to interpret the two min»93 either way; they could have said *"wan
mo1p and MoIp X2 Ownwn, and they also could have said moip X7 *"wan and moip mownwn, then I could
infer that since they chose to say 1mop &2 >"wan and MoIp 7ownwn, this proves that they maintain 171°n77 X7
7m77? for if they maintain 7m717 17°07 (in order not to be 721 on a nXvn 21°1) they should have chosen the
option of M0Ip X2 7ownwn» (so he should not come to a NXvn 21°1) instead of the option that 1P TOWRWH
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For if they did not fine him n>swnwn (when there is an M0°X to extend your
hand), once cannot then say that if he extended his hand *"wan (where

there is no Mo°X), then they fined him; for this would be a mockery!

— O TIYaNI MY NPUNUN DYV THY PRY 39 Y N)
And even though the reason why we do not fine him mawnwn (for he will
come to a NXYM 21°N) is not applicable to °'"wan nevertheless it will seem a
mockery to fine one who did not transgress and not fine the person who transgressed
nownwn. Therefore, the X°v2 of X"227 cannot be resolved from the answer of the °12
",

Now that the X"2w" explained that the X"2277 X°¥2 cannot be resolved from the 7"n7°2 °12
(since they had no other option), the &"2w7 will now explain how did the X723 initially
claimed to resolve the X"2277 X°v2 from the answer of the 7"7°2 *12:

— 19 91999 X930 DAY ANI) PRY 29D 991 19%WN XD RYITO 991 DIyH)

And previously (when the X713 claimed to be v the X'"2277 X°v2), this is
the explanation; since we did not answer in this manner (that 1017 >"wan

and 01p X7 ownwn) because it did not seem logical to them to say this -
— 03P XD D) TIYaAN 103P NIPUNYN 91997 19981

And it was necessary (for them) to answer that 1017 7ownwn and °'"wan

oI RY -
— »anT NOY2 VIVEY XYW MNTY 919

In order to deter us from resolving the query of a2y -
— %5353 294 NYY2 VIVAN 19 ON

Therefore let us resolve the 2%2 297 X9¥2 that 17207 ®5.

(where he will come to a nxun 211). However now that there is no option to say &? mawnwn) 701p *"wan
mop (for it is a X2P0RY X217), the 7"nm°a *12 were “forced’ to say mDip mownwn (to reconcile the mn>>12 that
we should not be vw1a the X°v2a of *aK), there can be no proof to resolve the X"2277 X°¥2, for (even though if
we would assume that >»7 n°9n733 XY 7R "X it would seem that moip 7ownwn and therefore 17PN X
7MT717; however we are not certain that this is the proper reconciliation of the nmin»12 for) we can (also)
assume that both nn>12 maintain *»7 N°91735 >7°X1 *7X and it has no bearing on the °3°2 277 X°v2 (for the
mn»72 can be discussing "1yam 2w1a [as M5OI mentioned » 7"72] where it can never come to a 211
nRon). [See footnote # 11.]

> It was necessary to find a way that both Mn> 2 maintain 7 N°»2133 > in order not to resolve the query
of »ax (for if we cannot reconcile the Nn>71 in this manner, we will be required to assume that either the
mn»12 argue whether *n7 n°9»735 or not [as we initially assumed] or [even ‘worse’] that both min>92
maintain °n7 n°on733, and we will certainly resolve »ax7 X°v3). The only way to reconcile that the two
Mn»12 maintain 17 N°917132 X7 is by saying 17°ni >"wan and MoR 7ownwn (otherwise it is a X2170X) Xo1).

% In this resolution of *»7 n*1733 > we see that Mo3p 7ownwn proving that 1071 even if it is 217 79 X
NNV,
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mooIn responds to an anticipated question:
— NP NPV NTNY NIINT 1) DY 9N
Even though we can deter this proof by saying, we accept only the first

answer that n°>»133 X1 > and there is no ruling that /190X Townwn -
— 5515 195 32D KON YO KIND KMNIPW 90N HANT DYONY 1YA IN)

And if you will desire to resolve the query of ax (that *»7 n>9755) we will
say that we maintain like the last answer (that °»7 n°2»732 XD 7K1 "TX)
‘and if you go here (to the first answer that °n7 n°91153) he will be pushed

away (that perhaps we follow the second answer), €tc. We cannot really resolve either
the X°¥2 of »2X or of &"221 -
— Pqwa) Nan DLW 179939 NN DYPNI YN

Nevertheless (at this point) one of the queries will be resolved regardless.

mooIn concludes:

9253 297 KDY ANT XY VIVON KD ODIYY NNIIIN 5PN 9NIRPT 999Y INN RNYN)
And now it is properly understood what the X713 states, ‘and if you want,
I can say that in reality you cannot resolve’, meaning you cannot resolve
neither the query of ax nor of v2°2 27°."

SUMMARY

The "7 maintains that the query of °2°2 27 is resolved. However, the X"2w?
maintains that it is not resolved (and we are vVWwsn X? 22w 0713), and even
initially the X713 meant that we can resolve either the query of »aX or of 27

" We do not know for sure that the Mn* 2 maintain *»7 N1P133 WY (which would resolve X"21277 X°¥2), it is
possible that they maintain >»7 n°21153 and we cannot resolve the X"12717 X°y2.

¥ Since we do not wish to resolve the 8"2277 X¥2 and therefore say that perhaps the mn> 2 both maintain
n7 N¥on35 then we are resolving the X°v2 of »ax.

? Whichever ®°va we will wish to resolve (depending how we interpret the mn»™2) we can always negate
this resolution by saying, perhaps the other interpretation is right.

' In order not to resolve the »2ax7 X°y2 we must explain that both mn»1a can maintain either *»7 n*>1733 or
m7 o135 2. The only way we can explain 7 n°21n733 Y is if we assume that 110X 7ownwn (and not
*"ywan for otherwise it is a X2170°K) &211). These are the only two options available to us now. We cannot
consider only the first option for that will resolve the *»ax7 ®°v2 (that *»7 n°71733), we cannot accept only the
second option only for that will resolve the (287 X°¥2 and) X"2277 X°¥2 (that 17°n71 8?). In any event if these
are the only two options available to us then we know that the nin>>2 tell us either that *»7 n°2%733 or X%
17°n7. According to this explanation when the X713 writes (in the previous answer) V1Wwsn 0?2137 it means that
you can resolve either the query of »aX, or the query of X"2127 (but not necessarily the query of X"117). See
‘Thinking it over’ # 1.

" Now we have another option how to reconcile the nn92 that they can maintain 7 n°2133 2 and the
difference is whether it was 22W2 or 7°12 (but not *"Wwan or 7owWnwn), where there is no nNXvA 21, See
following » w2 7"7 MooOIN.
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’2°2 but not either one specifically.

THINKING IT OVER

1. According to the X"2w" when the X713 said X"22737 v1wsn, it [did not mean
we can actually resolve 1"77 X°va from the 7"n7°2 °12, but rather the X7 n3]
meant that we can be b either »ax7 &°¥2 or 2"17 X°va.'> However the text
of the X3 seems to say that we can be 2"77 X°¥2 Vw5 from the way the °12
7" explained the Xn*72. How can we explain this discrepancy?!

2. According to Mmoo opinion" that one may always return his hand 72yn%
7wvn (even if he extended it 7 wyn 7un?), how can we resolve X'"2277 X°va
from our case? In the case of 17> nX XX he will not be nXun 211 >7°% "N
since he can always retract his hand "» 7ovn5!"

12 See footnote # 10.
B ko '
' See X3 7" NN 2.
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